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QUESTION 1

Based on the information shown in the exhibit, which of the following is TRUE when the PGW receives a "Create
Session Request" with the "APN Restriction" set to "Privatel"? Assume everything else is in working condition.

*h:PGU>configrmobile>pdn# apn "ipd.alcatel-lucent.com”
*A:PGU>configrmobile>pdn>apn# info
perf-selection
dynamic-pcc
exit
ip-alloc-method local-pool
pdn-type ipv4d
pdn-type ipve
pdn-type ipv4ve
restriction privatel
router "Base"
ip-local-pool "ipdpool”
exit
selection-mode subscribed-apn
no shutdown

A. The "Create Session Request" is rejected by the PGW and no bearer is created.

B. The "Create Session Request" is accepted by the PGW and the bearer is created successfully.
C. The APN cannot be configured with an "APN Restriction" value of "Privatel".

D. The "Create Session Request" cannot have an "APN Restriction" value of "Privatel".

E. None of the above answers are correct.

Correct Answer: A

QUESTION 2

A UE needs to get an IP address before it can communicate to any PDN over the LTE network. Which of the following
statements most accurately describes the process of the IP address allocation?

A. A UE may obtain an IP address during the PDN connection setup.

B. A PGW may assign the IP address from its local address pools.

C. A PGW may obtain an IP address from a RADIUS server and assign it to the UE.
D. A PGW may obtain an IP address from a DHCP server and assign it to the UE.

E. All of the above answers are correct.
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Correct Answer: E

QUESTION 3
Which of the following statements is FALSE regarding the Gx interface?
A. It is a Diameter-based interface between the PCRF and the PCEF.

B. The PCEF can act as a client or as a server for the Diameter connection depending on which application is running
over the Gx interface.

C. The PCEF receives the QoS information for a bearer from the PCRF over the Gx interface.
D. It runs a vendor specific application identified by an application ID value of 16777238.
E. It is never used to transport user data packets.

Correct Answer: B

QUESTION 4

Which network entities assign TEIDs to the indirect data tunnel used during an S1-based handover with no SGW
relocation?

A. The source eNodeB and the SGW.

B. The source eNodeB, the SGW, and the target eNodeB.
C. The SGW and the target eNodeB.

D. The source eNodeB and the target eNodeB.

Correct Answer: C

QUESTION 5

Which of the following statements is TRUE regarding the IP connectivity between a UE and a PDN?
A. A UE gets an IPv4 address and/or an IPv6 prefix per APN.

B. A PGW forwards the UE\\'s IP packets to the PDN based on the address of the PDN server.

C. When a UE sends an IP packet to a PDN over the EPC core, the eNodeB forwards the encapsulated packet to the
SGW by looking into its IP routing table to determine how to reach the PDN server.

D. The SGW forwards the UE\\'s IP packets to the PGW based on the address of the PDN server.
E. Only answers C and D are correct.

F. Only answers A and B are correct.
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Correct Answer: F
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